
  ESPACIOS VECTORIALES   

INTERSECCION ES SUBESPACIO  S1∩ S2  
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S1	
  es	
  subespacio:	
  

  

€ 

 
0 ∈ S1	
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 
0 ∈ S1 ∩ S2 ⇒ S1 ∩ S2 ≠∅	
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    ⇒ λ
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 ⇒ λ
 u + µ

 v ∈ S2
	
  

S1	
  es	
  estable	
  para	
  la	
  
suma	
  y	
  el	
  producto	
  
por	
  un	
  escalar	
  

	
  

	
  

	
  

( V, +,.K )	
  espacio	
  vectorial	
  
	
   	
   	
   	
   ( K , +,	
  ·∙	
  )	
  cuerpo	
  

 
 
Definición	
  de	
  intersección	
  

  

€ 

S1 ∩ S2 =
 u    u ∈ S1   u ∈ S2{ }	
  

Teorema	
  de	
  caracterización	
  

  

€ 

S ⊂V  es  subespacio  ⇔

⇔
S ≠∅
∀λ,µ∈K  ∀ u ,  v ∈ S  λ⋅  u + µ⋅

 v ∈ S  
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